2STO?

K =k

4

X=X —6x=0

X —6x> —37x+210=0

X — 13x° +46x— 48 = 0

9> — 4% — 76x+ 96 = 0

x3+x2—6x=0

H #A:

X =3¢ +2x=0

X —6lx—180 = 0

X =52 +4x =0

Y =4 —12x=0

X — 9%+ 8+ 60=0
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2STO?

K =k

W44

X=X —6x=0

x=-2,3,0

X —6x> —37x+210=0
x=-6,5,7

X — 13x° +46x— 48 = 0
x=3,2.8

9> — 44x* — 76x+ 96 = 0
8

x=-,-2,6
9

C+P—6x=0
x=-3,2,0

H - wE_
X =3¢ +2x=0
x=2.1,0

X —6lx—180 = 0
x=9,-4,-5

X =52 +4x =0
x=4,1,0

X =47 —12x=0
x=16,-2,0

X — 9%+ 8+ 60=0
x=5,6,-2

www.snowmath.com



https://www.snowmath.com

